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test-exec('E:\\Suboidiary\\5ub bat', |, 817
print (§tesc);
$1_Retr_Code = substr(ftest, 1, 7):
if ($1_Retr_Code != ' )
begin
raise_exceptjion(substr (Stest, 9, 1020):
end raise_exception( [in] ErrorMssage s varchar ) As int
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(1.7) 05-05.08 18:17:26 (6720:4752) _ JOB: Reading joh <6a704521 3081 _deac_B33f_8347c01851c5> from the repastry; Server version is <11.7.23x; Repostory versian s
<11.7.0.0000>.

(117) 08-05.08 18:17:26 (6720:4752)  JOB: Current crectory of job <6a704521 3081 _deac_838f_9347cc1951cs> is <D Program FilsiBusiness ObjsctsiData Itegrator 11 7¥in=
(117) 08-05.08 18:17:26 (6720:4752)  JOB: Stating job on job server host <HCAPPSO02>, port <3500>.

(117) 05-05.08 15:17:25 (6720:4752)  JO: Job <FromBS> of urid <20080801 5172657 204792> Is ntieted by user <SYSTEM.

(117) 08-05.08 18:17.26 (6720:4792)  JOB: Processing ob <FromeS>

(117) 08.05.08 18:17:28 (6720:4792)  JOB: Optimizing o <Fromss».

(117) 08-05.08 18:17:26 (6720:4792) _JOB: Job <Fromss is started

(117) 08-05.08 18:17:27 (6720:4752) PRNTFN. 0 DProgra FlesiBusiness ObjectsData

(117) 08.05.08 18:17:27 (6720:4792)  JOB: Job <From5 is completec successfuly.





